Lecture 7 De Rhan cohomology theory
1. A little homological algebra
• (co) chain cpx (of vector spaces).
(C', d') = (
$$\bigoplus C^{k}, \{d_{k}; C^{k} \rightarrow C^{k+1}\}_{k}$$
)
graded vector space
(ut nec fa)
s.t. $d_{kn} \cdot d_{k}(: C^{k} \rightarrow C^{knk}) = 0 \forall K.$
e.g. $C^{k} = \int \Sigma^{k}(M) = \{F - forms in M\}$
 $d_{k}: C^{k} \rightarrow C^{k+1}$ exterior derivative (and elicit-ode=o
checked earlier).
In particular, $K = 0$ in $K > dimM$, we have $C^{k} = 0.$
• Given a cochain cpx $C = (C', d_{k})$, define its columbly graps

by

$$H^{k}(C; |K) := \frac{\operatorname{ter}(d_{K}: C^{c} \to C^{k+1})}{\operatorname{Im}(d_{K}: C^{k} \to C^{c})} \qquad \forall K \in \mathbb{Z}$$
grand field for Ce

$$\operatorname{Im}(d_{K}: C^{k-1} \to C^{c}) \qquad \operatorname{Cheededent}$$

$$\operatorname{Constraint} d_{k-1} \in \operatorname{ter}(d_{k})].$$

$$e.g: \quad \text{The } k-\text{th } de \operatorname{Rham} \operatorname{cohomology} \operatorname{gramp} is \operatorname{defined} \operatorname{fram} \ \mathcal{D}_{i}^{i} = (\operatorname{SC}, d),$$

$$H^{k}_{dR}(M; |R) := \frac{\operatorname{ter}(d_{E}: \mathcal{D}_{i}^{k}(M) \to \mathcal{D}_{i}^{k+1}(M))}{\operatorname{Im}(d_{K}: \operatorname{SC}^{k}(M) \to \mathcal{D}_{i}^{k+1}(M))}$$

$$\operatorname{Then } \operatorname{chen} \operatorname{kco} \operatorname{and} \operatorname{Fo} \operatorname{dam} M, \quad H^{k}_{dR}(M; |R) = 0$$

$$\operatorname{Then} \operatorname{chem} \operatorname{kco} \operatorname{and} \operatorname{Fo} \operatorname{dam} M, \quad H^{k}_{dR}(M; |R) = 0$$

$$\operatorname{Then} (\operatorname{do} \operatorname{Rham}) \quad \operatorname{For} \operatorname{each} K, \quad H^{k}_{dR}(M; |R) \quad is \quad \operatorname{fruite} \operatorname{dim}' \operatorname{cover} iR.$$

$$\operatorname{Rec} \operatorname{dim}_{R} \operatorname{H}^{k}(M; R) \quad i: \operatorname{called} \quad \operatorname{che} k - \operatorname{th} \quad \operatorname{Bettirind} \operatorname{runcher} \int M.$$

$$\operatorname{Cleanded} y \quad \operatorname{betweet} M.$$

$$\operatorname{X(M)} := \sum_{k=0}^{k} (-1)^{k} \operatorname{dim}_{R} \operatorname{H}^{k}_{dR}(M; R) = \sum_{k=0}^{k} (-1)^{k} \operatorname{be}(M; R)$$

Exe If
$$T_{i}(M, \kappa)$$
 is a finite group (for any bacept), then $H_{de}^{i}(M;(R)=0)$
· chain map $f; C \rightarrow D'$ is a family of K -linear maps
 $f = \{f^{k}: C^{k} \rightarrow D^{k}\}_{k}$ i.t. $d_{K}^{D} \cdot f^{k} = f^{k+1} d_{K}^{C}$
Obsence that a chain map $f: C \rightarrow D'$ induces a well defined
map in corresponding cohomology groups
 $f_{*} = \{f_{*}^{k}: H^{k}(C; k\}) \rightarrow H^{k}(D; k)\}$
explicitly given by $f_{*}^{k}([x]) := \Gamma f^{k}(\kappa)] \in This is well defined is
 $p_{i}(DIS)$
 $e.g. N \xrightarrow{P} M$ a convect map, then
 $f_{e} = \varphi^{k}: D^{*}(M) \rightarrow D^{*}(M)$
Moreover, $d_{K}^{N} \cdot \varphi^{k} = \varphi^{k} \cdot d_{K}^{k}$, so $f_{e} = [f_{e}^{k}]$ is a chain map.$

$$= (f_{\psi})_{\star}^{k} : H_{dR}^{k}(M:\mathbb{R}) \longrightarrow H_{dk}^{k}(N;\mathbb{R}) \quad \text{well-defined}$$
(c1)
$$- If \quad \psi = 1_{\mathbb{M}} : \mathbb{M} \to \mathbb{M}, \quad \text{then} \quad (f_{\psi})_{\star}^{k} = 1_{\mathbb{N}} : H_{dR}^{k}(M:\mathbb{R}) \quad \mathbb{S}$$
(c1)
$$- For \quad \text{maps} \quad \mathbb{N} \quad \Psi_{S} \; \mathbb{L}, \quad \mathbb{V}_{C} \quad (\Psi \cdot \Psi)^{\star} = \Psi^{\star} \cdot \Psi^{\star}.$$

$$\text{we have} \quad (f_{\Psi \cdot \psi})_{\star} = (f_{\psi})_{\star}^{*} \cdot (f_{\Psi})_{\star}.$$

Weaver
$$\forall k$$
, $\ker(g^k) = \operatorname{im}(f^k)$.
Then $(\forall i)$ induces $\neg \lim_{k \to \infty} \underbrace{\operatorname{exect}}_{seq}$.
 $\int_{k}^{k} \underbrace{H^k(C;k)}_{sk} \xrightarrow{f^k}_{sk} \underbrace{H^k(D;k)}_{sk} \xrightarrow{g^k}_{sk} \underbrace{H^k(E;k)}_{sk}$ (Exe)

Here, Sk is colled the F-ch connecting map. Let us describe
Sk by "diagram chassing".
0 - Ck fk Dk gk Ek - 0
Ed gk e - [e] E HK(E:1K)
Ed gk e - [e] E HK(E:1K)
Ed gk e (So dF(e) = 0)
Ed c fk+1 jdt (So dF(e) = 0)
0 - Ck+1 fxm Dk+1 gt Ek+1 - 0
Moreover, d^C(c) = 0 (b/c fx+1 is injective).
So S^F([e]) = [c] (well-defined !)
eg. For a subufd ACM, define (due to Gradbillon)

$$S^{K}(M, A) = \{ K - form on M that vanishes on A \}.$$

Then we have a short exact sequence:

-

In the second model,

$$H^{k}(A, \mathbb{R}) \xrightarrow{S^{k-1}} H^{k+1}(M, A; \mathbb{R})$$
It simply induced by inclusion $S^{k-1}(A) \rightarrow S^{k}(M, A)$.
Therefore, given two pairs (N, \mathbb{R}) and (M, A) and morphism
 $\mathbb{Q} \cdot N \rightarrow M$ with $\mathbb{Q}[g[\mathbb{E}][\mathbb{Q}]: \mathbb{B} \rightarrow A$
we have the following commutative diagram

$$H^{k}(B;\mathbb{K}) \xrightarrow{S^{k}(M, 0)} H^{k+1}(N, B; \mathbb{K})$$

$$(f_{\mathbb{Q}})^{k} \uparrow \qquad (f_{\mathbb{Q}})^{k-1}$$

$$H^{k}(A; \mathbb{K}) \xrightarrow{S^{k}(M, 0)} H^{k+1}(M, A; \mathbb{K})$$

$$(f_{\mathbb{Q}})^{k} \uparrow \qquad (f_{\mathbb{Q}})^{k-1}$$

$$\mathbb{D}_{\mathbb{C}}^{k-1}(\mathbb{B}) \xrightarrow{T} \sum_{i=1}^{k} (N, \mathbb{B})$$

$$\mathbb{D}_{\mathbb{C}}^{k-1}(\mathbb{A}) \xrightarrow{T} \sum_{i=1}^{k} (N, \mathbb{B})$$